Ratio to CMS

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

7000 GeV pp NSD
= I B e B B B B B B O B B =
1L Charged multiplicity (NSD, | < 2.4) Z
107 &= —
£ =
107 —
107 = =
- i} -
-4 _ . ]
10 = = =
= 8 _ =
107° . m cMs ﬁ\ ]
; 1 ‘» ®~\\ ;
— --©-- Pythia 6.428 390 . :§& =
107 [ - 8- Pythia 6.428 391 * :\\'ﬁ\ N
= -+ Pythia 6.428 392 £Y =
~ -+~ Pythia 6.428 396 : % 3
107 & %~ Pythia 6.428 397 P 2
—  --¥-- Pythia 6.428 398 Y ¥ S
107° = =
o S U AU S RO R
2 £ =
1
0.5




	Contents
	Page 1


